Modelli Cambio/ Gearbox Models

e SCANIA  synchronizer Components

196.105 244990

119.087
154.127
187.455
121.021
160.146
156.145
188.102

~N o OB W

Fig. CEl no. SCANIA no.

264895
194755
244967
332613
214807
214119
234324

Description

Synchronizer cone (Steel)

Sliding sleeve

Screw M 6x1,00x48

Shift stop

Pawl

Spring De.9 [=16
Cup

Syncro Const/4th/3rd/2nd

Qty

B A L

Note : With Synchro cone 109.118 - 325113 Models: G760-761-764-770-772-773-774-776 | GS760-770-771-772 |
GR-GRE 860/ GR-GRE 870(T) / GR-GRE 871(T)

196.173 244991

119.087
154127
119.248
187.455
121.021
160.146
156.145
188.102

O N O Ol WwN B

Syncro 1st/RG

264895
194755
244965
244967
332613
214807
214119
234324

Fig. CEl no. SCANIA no. Description

Synchronizer cone (Steel)

Sliding sleeve
Outerring

Screw M 6x1,00x48
Shift stop

Pawl

Spring De.9 L=16
Cup

Note : With Synchro cone 109.118 - 325113 Models: GR-GRE 860 / GR-GRE 870(T)

196.343 325107

119.246
154.169
119.248
187.455
121.034
160.247
156.190
188.102

O N O Ol &~ WN -

Note : With Synchro cone 109.117 - 332118 Models: G776/ G777

Syncro 1st/RG

Fig. CEl no. SCANIA no.

325215
325108
244965
244967
325109
325110
244969
234324

Description

Synchronizer cone
Sliding sleeve
Outerring

Screw M 6x1,00x48

Shift stop
Pawl
Spring
Cup

—-
<

O O O O N N e =]

Qty

F N O N N N

Models

Series 1 All Models
Series 2 All Models

Series 3 All Models (except the ones using GR801/GRS890/ GR900/GRS900/GRS920)

Series 4 -

«>CEl

HIcsH EINEI ITY SPARE PARTS

All original equipment manufacturers’numbers, symbols, pictures, models and description used in this catalogue are for refecence only, and itis not implied that any part listed is the product of these manufactures.

Tutti i nostri particolari non sono originali ma con essi intercambiabili. | riferimenti originali, le figure, i modelli sono esposti a semplice titolo indicativo. La nostra produzione riporta il nostro marchio.



Modelli Cambio/ Gearbox Models

tene: SCANIA  synchronizer Components

196.216 328117 Syncro Const/4th/3rd/2nd
Fig. CEl no. SCANIA no. Description Qty
1 119.246 325215 Synchronizer cone 2
2 154.392 328118 Sliding sleeve 1
3 187.455 244967 Screw M 6x1,00x48 4
4 121.034 325109 Shift stop 4
5 160.248 328086 Paw! 4
6  156.145 214119 Spring De.9 L=16 4
7 188.102 234324 Cup 4
g
é 53 Note : With Synchro cone 109.117 - 332118 Models: G770-776-777 | GH774 | GS770-771-772 /
cE GR-GRE 870(T)
£3
28 196.345 330192 Syncro 1st/RG
22 Fig. CEIno.  SCANIA no. Description Qty
T o
gz 1 119.246 325215 Synchronizer cone 1
g% @\/% 2 154.169 325108  Sliding sleeve 1
£5 3 1948 244965  Outerring 1
;g . 4 187.455 244967 Screw M 6x1,00x48 4
%E 5 121.034 325109 Shift stop 4
2 6  160.248 328086 Paw! 4
85 R 7 156.145 214119 Spring De.9 L=16 4
g3 AN 4 é 8  188.102 234324 Cup 4
% % Note : With Synchro cone 109.117 - 332118 Models: GR-GRE 870(T)
Qo E
gﬁg 196.344 333906 Syncro Planetary Gear (GP)
EE
é = Fig. CElno.  SCANIA no. Description Qty
§§ 1 119.246 325215 Synchronizer cone 2
%g 2 154.393 351227 Sliding sleeve 1
ﬁ% 3 187455 244967 Screw M 6x1,00x48 4
5¢ 4 121021 332613 Shift stop 4
FE 5  160.249 324238 Pawl 4
= 6  156.191 324243 Spring De.9 L=16 4
§5 7 188102 234324 Cup 4
g8
5E
€2 Note: With Synchro cone 324267 Models: GS771- 772
£3
<F
Notes Date
04/2010
Table

> CEI

i1~ EINEIITY CGPARE PARTS

0210




Modelli Cambio/ Gearbox Models
Synchronizer Components

Adattabile a : SCAN IA
Suitable To :

196.215 338706

Syncro 1st/RG

Fig. CEl no. SCANIA no. Description Qty
1 119.246 325215  Synchronizer cone 1
2 154.169 325108 Sliding sleeve 1
3 119.247 338232 Synchronizer cone 1
4 187.455 244967 Screw M 6x1,00x48 4
5 121.034 325109 Shift stop 4
6 160.248 328086 Pawl 4
7 156.145 214119 Spring De.9 L=16 4
8 188.102 234324 Cup 4
Note : With Synchro cone 109.117 - 332118 Models: GR-GRE 871(T)
196.362 353041 Syncro 1st/RG
% Fig. CEl no. SCANIA no. Description Qty
@ ‘SD A\ 1 119087 264895 Synchronizer cone (Steel) 1
~ 3 \\1\ |\ \\Q\ 2 154.394 353043  Sliding sleeve 1
[ AN\ G PR 3 119.248 244965 Outerring 1
a ﬁ\(@‘%\\\@\}\ N\ 4 187455 244967 Screw M 6x1,00x48 4
(I N\ CR \é@ 5 12102 332613 Shift stop 4
W W N\ 6  160.146 214807 Pawl 4
N\ A 7 156145 214119 Spring De.9 L=16 4
A\,«»@ @ g 183102 234324 Cup 4
Note : With Synchro cone 109.118 - 325113 Models: G776

Models

Series 1 All Models
Series 2 All Models

Series 3 All Models (except the ones using GR801/GRS890/ GR900/GRS900/GRS920)

Series 4 -

I~ EINEI ITY GPARE PARTS

All original equipment manufacturers’numbers, symbols, pictures, models and description used in this catalogue are for refecence only, and itis not implied that any part listed is the product of these manufactures.

Tutti i nostri particolari non sono originali ma con essi intercambiabili. | riferimenti originali, le figure, i modelli sono esposti a semplice titolo indicativo. La nostra produzione riporta il nostro marchio.



All original equipment manufacturers’numbers, symbols, pictures, models and description used in this catalogue are for refecence only, and itis not implied that any part listed is the product of these manufactures.

Tutti i nostri particolari non sono originali ma con essi intercambiabili. | riferimenti originali, le figure, i modelli sono esposti a semplice titolo indicativo. La nostra produzione riporta il nostro marchio.

Modelli Cambio/ Gearbox Models

tene: SCANIA  synchronizer Components

196.158 244622

Syncro Planetary Gear (GP)

«>CEl

HIfH EINEI ITVY CPARE PARTS

Fig. CEl no. SCANIA no. Description Qty
1 119.087 264895 Synchronizer cone (Steel) 2
2 154.127 194755  Sliding sleeve 1
3 187.455 244967 Screw M 6x1,00x48 4
4 121.021 332613 Shift stop 4
5  160.146 214807 Paw! 4
6 156.145 214119 Spring De.9 L=16 4
7 188.102 234324 Cup 4
Models: GR-GRE 860/ GR-GRE 870(T) / GR-GRE 871(T)
GR-GRH 880(T)
Notes Date
0412010
Table

0220




